Total No, of Pages ; 52 Q. Booklet
Total Ne. of Questions : 100 Code A

V-TG CET - 2020
(Common Entrance Test for Admission into Class - V
in TSWR Institutions)
Time : 2 hours Max Mark : 100

Instructions to Candidates :-

tﬁ;ﬁ;ﬂ? AP -
Each Question carries 1 mark.
B0 B9 o8 St

2.  This Question Paper consists of Five parts.
SEtites® ath grmesTyo.
Part - A: 20 Marks (Q. No. 1-20) - Telugu.
Part - B : 25 Marks (Q. No. 21-45) - English.
Part - C : 25 Marks (Q. No. 46-70) - Mathematics
Part - D : 20 Marks (Q. No. 71-80) - Environmental Science.
Part - E : 10 Marks (Q. No. 91-100) - Mental Ability.

3.  Before you begin to answer, fill in the necessary particulars and sign on the OMR
gheet, failing which the seript will not be valued.
el O Baols OMR & Dicreiio Job, ediiies Soble Sard, 808 eores
Hio BEnEss,

4.  You are prohibited from writing your name and register number on any part of
the OMR sheet.
{}Mﬂﬁ*i‘ufaﬁ;mbéu-:uﬁﬁgﬁmmsmﬁmmﬁ?ﬁm

6.  In case, your Hall Ticket Number iz not printed on the OMR sheet, write it in
the box provided in the OMR sheet itself
%6 3345 oxy; OMR &' saBotiesstots e iy Kad° Do 96 338 toggic oainl.

6. You are prohibited from bringing loose sheets of paper or books, written or
unwritten, printed, typed or cyclostyled into the examination hall.
oS, BaoBels, Dy Bom .:.5"{ Scticnds 28 bubos/gnmeie vip HEE
Ghloram s,

7. Choose the correct answer and darken the relevant circle in the OMR sheet with
a Blue / Black ball point pen.
WO esproeie DgouotU OMR &%) Soweld Swrrorl; (circle) OMR 20/5e0 b
Sroaved BE oo Rq;ﬂﬁﬁun‘ Sairg,

8. Candidates are NOT permitted to leave the Exam Hall till the last 10 minutes.
Sobs 28y Hocirdd 008 10 Jualte WD egitpes wip HE 50D Jond
TEERE T e
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PART - A
TELUGU (Q.No. 1-20)
Eob Bilss’ Prdngon Hbotod.
{A) =
B) 4
(C) s
(D) =»

b6 PeTel 28ed D Mee?
(A) trooc

(B) §u¥dTee

(C) Rorzroo

(D) SHeszes

B el Datd 6 e Bl 53, ok
(A) B0

(B) ama

(C) o

(D) somed

‘s Nol? el O 308 S
A 5%

(B) Soolgs

(C) Ferud

(D) el
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B: &R SRS ccranienns
(A) Seesson
(B) s
(C) sooy
(D) us

6. Deomr PLLHT P03 B e

(A) Dersreds
(B) musk

(C) sorerdsnd
(D) esBemenE

7. @0 o8 Nollnys STl ool
&5y, 08 bued 50b DG wirp: D008,
(A) Do
(B) &5,
(C) arg
(D) ed

8. asoy el B2 adcl BAS SO, Moloted.
(A) e
(B) >use
(C) B

(D) Saeese
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10.

11.

12.

Fresoass Shoes HhotmD U &%
fig Al Bl eordy obedod.
(A) el

(B) &

(C) wowo

(D) e

e D et Betiee Sai?
(A) Scifyyo

(B) Besild

(C) &&r

(D) Segdo

IesolgEin0® wty Sdof’ &) ool B eSod.

(A) c¥
(B) S0
(C) weire
(D) Seasis

sob moes Shsards Sttt

hs Bl 308 S, 88000, S, oGoted.
(A) B

(B) wod

(C) &4

(D) &
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13. Rwiglin J88 moot’ Prusdvly Hotdomrs?
(A) sboioes

(B) Sipodive:
(C) wrbirtoss
(D) Siomo

14, 32 Sapé’ socgores N SO0, Hefotod.

() (D)

15. 5o, Digs ol W By oo Pimes Biptocd,
? e’ BuEned; nfotied.
(A) =5 -

(B) pSzven
(C) eddo

(D) sEaptees

16, {308 Sored® Brte S0 e

(A) @es
(B) D

(C) Sepes

(D) SFrsrs
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17. 200 ieed® (ol trezets fojeted.

. [
= TN = &

(A) Eo

(B} sir i
(C) &%
(D) e

(18-20) (300 Somis SO 5Oy Herts BEet eoruses ovdbed,
CriSaciog Dy Boe00wo. ST §PY; B B, Gl T SoolB. 82 3Gt bows.

o St Su. 5500 Stmeod’ BepEoTEs. wiron B e, Hi2s &0 wdd'
Beaintend. Y P wostir 580 Suloyte. ufl SBme 38y It

18, ovoctis; 47y St Do
(A) Ba
B) wmre ,
(C) "o
(D) fs

19. Do I% & SESHBoTE?
(A) St

(B) stre
(C) Rerts

[ad

(D) Sohdrts

20. Heowe wors 5UU AN ESmER?
(A) Sa8%
(B) &3 11
(C) Tdsced

(D) &t
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24,

V-TG-BOOK-A

PART-B
ENGLISH (Q.No. 21-45)

Our house is ..... than a palace,
(A} big

(B) bigger

(C) biggest

(D) shorter

Vimala likes singing ..... dancing.
(A) and
(B) but

(C) yet
(D) although

Plural of thief.
(A) thiefs
(B) thives
(C) thieves
(D) None

I have many wheels. I run on rails. Whoam 1 ?

(A) Truck
(B) Aeroplane
(C) Train
(D) Ship

(7]
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25.

26.

27.

28,

29,

Q. Booklet
Code

Ramu took out his book .... did not write anything.
(A} and

(B) but

(C) wet

(D) although

Arrange the following words in an order.
1 2 3 4
a merchant / called Harichand / There lived / in Delhi
(A) 1324
(B) 3421
(C) 3124
(D) 4123

Bees livein a ......
{A) Hive

{B) Burrow

(C) Sty

(D) Kennel

Put this poster ...... the notice board.
(A) above

(B} near

(C) on

(D) beside

Grand father ..... a very interesting story yesterday.
(A) told

(B) tells

(C) telling

(D) tell

V-TG-BOOK-A (8]
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(30-832) Read the following poem.

Reading stories ig so much fun,

Qur English book has plenty of them.

My friends like mathematics

Not just problems but also tricks.
My brother found of drawing
Birds singing and rivers flowing.
My sister always plays with clay
Makes toys pots to play.

Now, answer the following questions.

30. Who is fond of drawing ?
(A) Friends
(B) Sister
(C) Brother
(D} Cousin

31. Opposite of plenty.
(A) more
(B) abundant
(C) too many
(D) few

32. Which book has plenty stories 7
(A) Social
(B) English
(C) Mathematics
(D) Science

V.TG-BOOK-A (9]




33.

34.

35.

36,

37.

Find the missing letters.
Str—ng—-r

(A) ee

(B) ae

(C) ea

(D} ao

Looked very closely or carefully.
{A) Perched

{B) Peered

(C) Fluttered

(D} Stepped

Find the wrongly spelt word.
(A) hesitant
{B) obedient
(C) devoted

(D) arogant

Find the wrong pair.
(A) Sneezing - nose
(B} Yawning - mouth
(C) Snapping - hands
(D) Staring - legs

*Calf " is the young one of a .....
(A) Cow

(B) Cat

(C) Goat

(D) Owl

V-TG-BOOK-A (10]
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38. A piece of cloth worn over for protection is ....
(A) Compass
(B) Dress
(C) Veil
(D) Caravan

39, Which of the following words can be completed by using “ch " ?

1 (A) Fla——, chur-—-
| (B) Cat-—, mu--
'I (C) Fet-—-, Flu—-

(D) Pu—-, bru--

40. Choose the appropriate pronoun of the underlined word.
Pushpa is a good girl. ....... helps others.
(A) He
. (B) She
| ©) It
(D) Her

41, Which is the unhealthy habit among the following ?
(A) sleeping early.
(B) eating vegetables.
(C) biting nails.
() playving games.

V-TG-BOOK-A [11]
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(42-45) Read the following passage.

42,

43.

44,

45,

I am the king of the forest. My kingdom had once been very
beautiful. The jungle had been full of tall trees. Deers, Tigers,
Peacocks and Pigeons were among my people. The hill tribes also
lived with us. They loved the forest and respected our freedom.

Now, answer the following questions.

Who is T here ?
(A) Tiger

(B) Lion

(C) Deer

(D) Fox

Who respected their freedom ?
{A) birds

{B) animals

(C) the hill tribes

(D) trees

Opposite word of beautiful’.
(A) handsome

(B) pretty

(C) nice

(D) ugly

Pick the word which means forest’ from the passage.
(A} among

(B} jungle

(C) tribe

(D) freedom

V-TG-BOOK-A [12]



46.

47.

49,

Q. Booklet

Code
PART -C

MATHEMATICS (Q.No. 46-70)

The number of days that a leap year has ......
e By onittob’ 4ol Blere iop;

(A) 365

(B) 366

(C) 364

(D) 367

Write the following in number form :
“Nine Thousand Two Hundred and Seven.”

u§'Sa,0 Te Dok Sotie D™ 5 ez’ Erabm
(A) 927

(B) 9207

(C) 9027

(D) 9270

. How many grams are there in 1 kilogram ?

e 357 Mot 37, rEwes?
(A) 100

(B) 500

(C) 1000

(D) 10000

The ascending order of 143, 167, 115, 117, 123, 104.
143, 167, 115, 117, 123, 104 i ebhne (55ocs’ Eoom
(A) 104,115,117,123, 143

(B) 143,123,117, 115, 104

(C) 104,115,123,117,143

(D) 143,104, 115, 117, 123

V-TG -BOOK-A [13]
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50. How many bottles of 250 ml can be filled by

al.

52.

53.

2 litres of milk ?

2 Besy el 27, 250 208 bt birets dontisis?
(A) 4

(B) &

(C) 25

(D} 50

1
Eth of 40 books are kept in a bag. Then how many books are left
outside the bag ?

1
40 Hhred® g S gPlo = Pold &old, gom walbe SADD PEPes %0

(A) 8
(B) 10
(C) 5
(D) 32

With how many lines, the given figure can be
divided into two exactly equal parts 7
(i, Surn Dok W5 gRroaT Jfidotodes O
fibes AotosSgme?

{A) 2

(B) 1

(C) 4

(D) 6

What will be the next number 113, 116, 119, 122, ...... 7
113, 116, 119, 122, ...... Soar (ood® B0 B55 ow;

(A) 125

(B} 128

(C) 129

(D) 130

V-TG - BOOK-A [14] 1
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55.

57.
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Code

What can be measured by using centimetres or metres 7
(A) Length

(B) Weight

(C) Temperature

(D) Money

Bo0 >0 BU0 Rod owtt B Doyl Pesas?
(A) a9

(B) wieg

(C) adfums

(D) ey

What is the place value of 8 in 489 7
489 e Popsd® 8 casty, 35 Do

(A) 8

(B) B0

(C) 48

(D) 800

V-TG -BOOK-A [15]
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58. In the given figure, the shaded part represents which fraction ?

(A) 5

308 ol BE st gite S Dets e ‘\
3 A

[\

(B)

(C)

o | et

(D)

b |

59. Find perimeter of the given figure.

B mide)

12 miks)
e 2eP08 Do Fed Jotn? .
mise.]

{A) B0 m (&s.)

B mite. 5 mie]
(B) 52 m (&.) =

7 mise] T mife)
! -
(C) 54m(2s.) 2 mide.)

(D) 53 m (&s.)

60. Find the largest four digit number formed by using the digits

3,4,2,9
3, 4, 2, 9 ecle Rk@MPhed Frdilie Pealicle oo N Non;
(A) 2439
(B) 9234
(C) 9342
(D) 9432

V-TG -BOOK-A [16]
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61. If one litre of milk costs Rs. 42, then the cost of 85 litres of milk
i8 ...

(A} Rs.3750
(B) Rs.3560
(C) Rs. 3570
(D} Rs. 3670

e Bests e 4 6, 42 e 85 bol Do &5 Jou?
(A) &».3750
(B) &= 3560
(C) &= 3570
(D) &= 3670

62. A rope of 108 m. long is cut into the pieces of 9 m each. Then the
number of pieces is ....

108 bs, S fo prasts, eF50 9 b, SEp dckobes 500y, S5 P

63. What is the time in the Clock ?
rAITe Aoty Hhece Jolh?
(A) 2:00
(B) 1:45
(C) 1:50
(D) 1:55

V-TG -BOOK-A [17]




65.

66.

67.

Q. Booklet
Code A

How many minutes are there in 1 hour 25 minutes ?

1 Kew 25 Tsxdred' Jato ) Mledres Sug?
(A) 60
(B) 25
(C) 75
(D) 8

How many triangles are there in the given figure ?
B Rewed® Bsdo I, (BEbres Yoy ?

(A) 9

(B) 12

(C) 1

s AN
What is 14 times of 6 7

6§ 14 T et Joth?

(A) 20

(B) 8

(C) B4
(D) 82

The number of faces that a soap box has .....
ﬂu%bgmﬁbmuim]m
(A) 8
(B) 4
(C} 5
(D) 6

V-TG -BOOK-A [18]
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68. A tonic bottle contains 60 ml. of medicine. How much medicine will
be there in 15 such tonic bottles 7

L8 ornE L35 60 Du.d. Hooks Hoso. ed thS Dol 15 bded® Job Woot
Eoeal?

{A) 75ml (20.8.)

(B) 900 ml. (2:.0.)

(C) 800 ml. (20.8.)

(D) 600 ml. (2:.5.)

69. If @=?,thnn@@@z ?
B DRODOD "

(A) 7
(B) 35
(C) 42
(D) 56
70. Grade Tally marks
e niess Dirkeo
A 111
B |1
C I

The above table represents the number of students who secured
A, B, C grades in Tally marks. Then the total number of students in
that class is ....

L BONGS® Dortsee 2ol fitoets p SeEE ghedin, vot SUNGSN e
=t ey

(A) 10 -

(B} 13

(C) 5
(D) 9

V-TG - BOOK-A [18]
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PART - D

ENVIRONMENTAL SCIENCE (Q.No. 71-90)

7l. Restoring all minor irrigation tanks, Government of Telangana started
............. Programime.

(A) Mission Kakativa

(B) Mission Bhagiratha

(C) Haritha Haram

(D} Pallebata

Solfoast Jewipo Jed Deod Ty ;o Dolowts Bucme Fehbe THds LR
(A) 2o85 subab

(B) s ghoe

(C) w88 e

(D) SZere

72, We get oil from .......
(A) Sunflower
(B) Cauliflower
(C) Cabbage
(D) Carrot
Bod ol Moed HoRss Sasuye.

(A) @eap Do

(B) =Byub

il

(C) e

(D) ==&

73. The number of permanent teeth in adults .....
BEPOE THD Looru owy
(A) 20
(B) 22
(C} 42
(D) 32

V-TG-BOOK-A [20]



74, Koneru Humpy is famous for .....

(A)
(B)
(C)
(D)

Cricket
Volleyball
Chess
Tennikoit

B30 T soniarnaenaenns HED 0O,

(A)
(B)
(C)
(D)

v | T ears are not visible externally.

{A)
(B)
(C)
(D)

{A)
(B)

()
(D)

76, .
(A)
(B)
(C)
(D}

......

25
.

widalic

Dol

Birds

Lizard
Crocodile

All the above.

(IR IR R LE] :@m M !ﬂhwt

WET

... is polluting the atmosphere.

Carbon monoxide
Hydrogen
Oxygen

Nitrogen

?Wﬁ'ﬁ Emw am chaa Ll LE Ll Lo

(A)
(B)
(C)
(D)

TS g5
pfes
it

35S

V-TG-BOOK-A [21]
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77. The direction of North on the paper is shown as ...

ThBCE GBO0C BERES v T PO,

(A) —

B) T

(C) «

(D) 4

78. Birds migrate from distant places to ........
(A) Sleep
(B} Read
(C) Lay eggs
(D)} Play
BRI sirirenennnnn. Tii0 EPGoCRDN Beis Sorans,
(A)
(B) Ssag
(C) ol deie
(D) e

W is mixed with water to kill germs and microbes to purify it.
(A) Carbon dioxide
(B) Chlorine
(C) Nitrogen
(D) Cool drink
MIE s wgdpess stendd, B8 Do DR veissien B9 BeSihORG,
(&) m8ng &3 5
(B) &%3
(C) Bped o
(D) 3o Daie

V-TG - BOOK-A [22]
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80. Cholam (Jowar) grow more in ..... state.

Bli

82,

(A) Tamilnadu
(B) Kerala

(C) Rajasthan
(D) Karnataka

(A) Bl
(B) Fow

(C) omipa
(D) Scret

Rainbow has how many colours ?

FoiBthtedt 20, Solbes dowro?
(A) 7
(B) 6
(C) &
(D) 3

<erer.. disease is spread by drinking contaminated water.

(A) Typhoid
(B) Dengue
(C) Malaria
(D) Heart attack

B Rl TR — Y R T
(A) Bl

(B} Goirg

(C) wnBoae

(D) Foctifun

V-TG-BOOK-A 123)
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83. Which is (are) essential for germination of seeds ?
(A) Air
(B) Water
{C) Sunlight
(D) All the above.

sgres Bor Noees DeBEERS D wnnte?
(A) m8

(B} wes

(C) Artmed (Roabats)

(D) Poayets

84, The Right to Information Act was implemented from ........
(A) 12th August 2008,
(B) 12th September 2005,
(C) 12th October 2005.
(D) 12th November 2005.
HEFCAE S, B0 e B0 WR0EE'S S0l
(A) 12 erssp 2005
(B) 12 “peed 2005
(C) 12 ef'eb 2005
(D) 12 5ok 2006

B s is not a boundary state of Telangana.
(A) Maharashtra
(B) Karnataka
(C) Chhattisgarh
(D) Tamilnadu

Docmes S, 1‘:6;':-&2 0.

(A) RoFiorg,
(B) Scred

(C) $hanE
(D) Blemss

V-TG-BOOK-A [24]
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86. Which crop needs more water 7
(A} Jowar
(B) Groundnut
(C) Horsegram
(D) Paddy
D Seels Mg D estibta?
(A) &%
(B) ud
(C) aoibes
(D) &8

87. The rule, that should be followed while driving vehicles.
(A) Do not use mobile.
(B) Wear helmet.
{C) Wear seat belt.
(D) All the above.

Sireres ndssiets Ardolbehl Dakive.
(A) TaddFm smEoesa.

(B) 85 §lord.

(C) e By DuySord.

(D) BEletee.

88. Which is used to measure temperature of our body ?
(A) Hydrometer
(B} Barometer
(C) Thermometer
(D) Stethoscope
w285 AZfmte Feotionl ABAPNeEnn 207
(A) ZpiEihowsts
(B) grosl
(C) HEiPouts
(D) s

V-TG-BOOK-A [25]
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89. The ......... i5 a natural satellite of the Earth.
(A} Sun
(B) Moon
(C) Star
(D) Aeroplane

(A) Botess
(B) Soits

(C) dHEe
(D) Darse

90. Which river flows through Telangana ?
(A) (rodavari
(B) Tungabhadra
(C) Penna
(D) Ganga
Do focl Fairots 5O D09
(A) Roeg
(B) Boolighs
©) =%

(D) ren

V-TG-BOOK-A (26]
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PART - E
MENTAL ABILITY (Q.No. 91-100)
91. Which will come next in Al, BJ, CK, ......... 7
AL B CE. oo & btomd SEnR.
(A) DH
(B) DM
(C) DL
(D) LM

92. International Women’s Day is celebrated on every .....
(A) February 8
(B) March 8
(C) November 14
(D) January 26
sosgbo Sl 85550k B0 Seito JHis BIRhETRR?
(A) Ppad 8
(B) G 8
(C) wwoeb 14
(D) Nt 26

93. Find which word cannot be made from the letters of the word
“TRIBUNAL ™.
“ TRIBUNAL ™ eise 55065 sore food HhED BES wonmmer
(A) LATIN
(B) BRAIN
(C) URBAN
(D) TRIBLE

V-TG- BOOK-A [27]
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96.

Q. Booklet
Code

Find odd one out from the given options.
(A) Man

(B) Tiger

(C) Stone

(D) Monkey

808 2ded’ PEReicad b Sremion o,
(A) S

(B) &b

(C) oraas

(D) s'@

() =
® 2

11
(C) =

(D) None (286 mess)

Choose the figure which is different from the rest,
Darige Tl 5oed PR Hertasiy KoGomuas.

i

(A) (B) (C) (D)

V-TG-BOOK-A (28]
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97. Find the next figure in the series.
3ol DDyt SHE® BT BEy Beso D8,

X 4 I [

(A)
(B)
(C)

V23

98. Arrange the given words in a meaningful sequence, and thus find the
correct answer.

1. Table 2. Tree 3. Wood 4.Seed 5. Plant.

Bt DO Srreiks efsctley 006" e, oD Dy MeprSom Kifotoma.
1 8ed 2.3y 3.9 4. Dg%e 5. dwl

(A) 1,2,3,4,5

(B) 4,95,3,2,1

(C) 1,3,2,5,4

(D) 4,5,2,3,1

V-TG-BOOK-A [29]
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(99-100) : First pair of words are connected with some relation.
In the same way, find the missing word in the second pair.
(99-100) : 2088 255°% Dot Sore L Sowoled Yestwros.
Wl DS Dol 2iE® SRheli BOCLE BANa B,
99. Cricket : Bat :: Hockey : 7
(A) Player
(B) Ball
(C) Playground
(D) Stick
535 mﬁﬁ nad 0
(A) esermss
(B) wob
(C) wesifoc
(D) &g

100. Country : President :: State ; ?
{A) Chief Minister
{B) Speaker
(C) Governor
(D) Vice President

Sio : oS0 1 e 1 7
(A)  SeepiociB

(B) :xE

(C) oG

(D) ssopss
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